This report contains the transfers results.

Contest Name

Ward 7 - Maybole North Carrick and Coylton

Valid Votes
Positions to be Filled
Quota

4,282 3 1,071

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
lain CAMPBELL	Scottish Conservative and Unionist	895
Brian CONNOLLY	Independent	756
William James GRANT	Scottish National Party (SNP)	1,370
Laura McEWAN	Scottish Conservative and Unionist	623
Stephen RALPH	Scottish Liberal Democrats	106
Nicola SAXTON	Scottish Labour Party	532
	Total	4,282

Candidate William James GRANT Elected with 1,370 votes, being in excess of the quota of 1,071

This report contains the transfers results.

Stage 2 - Surplus of William James GRANT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Iain CAMPBELL	40	0.21824	8.72960
Transfer to Brian CONNOLLY	465	0.21824	101.48160
Transfer to Laura McEWAN	28	0.21824	6.11072
Transfer to Stephen RALPH	112	0.21824	24.44288
Transfer to Nicola SAXTON	303	0.21824	66.12672
No further preference	422	0.21824	92.09728
Not transferred due to rounding			0.01120
	Total		299.00000

This report contains the transfers results.

Stage 3 - Exclusion of Stephen RALPH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Iain CAMPBELL	10	1.00000	10.00000
Transfer to Brian CONNOLLY	29	1.00000	29.00000
Transfer to Laura McEWAN	6	1.00000	6.00000
Transfer to Nicola SAXTON	38	1.00000	38.00000
Transfer to Iain CAMPBELL	2	0.21824	0.43648
Transfer to Brian CONNOLLY	28	0.21824	6.11072
Transfer to Laura McEWAN	2	0.21824	0.43648
Transfer to Nicola SAXTON	71	0.21824	15.49504
No further preference	23	1.00000	23.00000
No further preference	9	0.21824	1.96416
Not transferred due to rounding			0.00000
	Total		130.44288

This report contains the transfers results.

Stage 4 - Exclusion of Laura McEWAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Iain CAMPBELL	519	1.00000	519.00000
Transfer to Brian CONNOLLY	27	1.00000	27.00000
Transfer to Nicola SAXTON	38	1.00000	38.00000
Transfer to Iain CAMPBELL	11	0.21824	2.40064
Transfer to Brian CONNOLLY	6	0.21824	1.30944
Transfer to Nicola SAXTON	5	0.21824	1.09120
No further preference	45	1.00000	45.00000
No further preference	8	0.21824	1.74592
Not transferred due to rounding			0.00000
	Total		635.54720

This report contains the transfers results.

Stage 5 - Surplus of Iain CAMPBELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian CONNOLLY	479	0.25395	121.64205
Transfer to Nicola SAXTON	242	0.25395	61.45590
Transfer to Brian CONNOLLY	15	0.05542	0.83130
Transfer to Nicola SAXTON	12	0.05542	0.66504
No further preference	703	0.25395	178.52685
No further preference	26	0.05542	1.44092
Not transferred due to rounding			0.00466
	Total		364.56672

This report contains the transfers results.

Stage 6 - Exclusion of Nicola SAXTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian CONNOLLY	296	1.00000	296.00000
Transfer to Brian CONNOLLY	97	0.25395	24.63315
Transfer to Brian CONNOLLY	174	0.21824	37.97376
Transfer to Brian CONNOLLY	5	0.05542	0.27710
No further preference	312	1.00000	312.00000
No further preference	145	0.25395	36.82275
No further preference	205	0.21824	44.73920
No further preference	7	0.05542	0.38794
Not transferred due to rounding			0.00000
	Total		752.83390